Ratio to ATLAS

1/0d%/ d N'e‘ld m " [1/GeV]
o

-
<
i

0.5

13000 GeV pp tt
= T [ r o r-roro T T o e e T T T T T g
B | | o
— M(ttbar) (ATLAS semileptonic ttbar) 13
- 18
m  ATLAS &
| -~ ©-- Pythia 6.425 atlas-csc |
--+-- Pythia 6.425 d6t 2
— Pythia 6.425 default o
—  ---v-- Pythia 6.425 dw 19
- —o— Pythia 6.425 p0 12
B Bie)
o™
<t
o™
©
— -/ O
B 1M
— 1 <
B 1=
i 1%
S,
B N N
|
=
(0]
- —©
)
©
o
_lo
| [ | [ I -
| T T T T |:

—2
1

| —0.5

1 1 " | " 1 1 1 1 " | " 1 1 " | " 1 1 " 1 1 " |

500 1000 1500 2000



	Contents
	Page 1


